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FA: SF
. dY2I3HI(52)
Cel: QIHARHHI(E2) (Ste ®
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OLELE=E 132,451,000 *1.75% 2,318
odundn=(83) 19,113
OZ?JIE(0F)
4,521,600 x2E *110% 9,948
@I ADIE(283)
4,165,600 2 *110% 9,165
OBIAIYIIH 95 (2F) 66,853
Q== 25,256, 4002 *35/40%2H 44,199
@ X IH&HI 44,199,000 3. 3% 1,459
@I A SAH| 140,000 x2& * 122 3,360
@Z S =2 x|
175,000 8 x35/40x2H 123 3,675
@It 4|
44,199, 0003 / 122 »86%+84%/ 302 * 10! 887
LRI EERSS)
9,860 x2H*x3BAI 2+ 123 8,283
@OtE+Y 3,840
piIEON; 40,0003 <2~ 122 960
R LU PE 30,0002 x2& =122 720
-S Mt 70,0002 x 18 * 122 840
-SURHAHA 110,000 x1&* 122 1,320
O LEEE=E 65,703,000& *1.75% 1,150
OAIZHAERH D1 1,281,512
[ Bl 936,596
“ARHEETH A A (L)
54,884,160 2 109,769
—ARHEETH DA (CHE)
43,158, 7903 +54 215,7%4
-ARMIERIA DA (2HS)
33,178,560& +7& 232,250
—ARHEET DA (0F2)
22,281,310& 17 378,783
[ F=Rgeil= 98,534
—ARFEETIA DRI (L)
2,925,000 x2H 5,850
AR TIDIRI(CHS)
4,559,040 6 22,7%6
-ARHEEIH D IHI(2H2)
3,656,860 x7& 25,599
—ARFIETIZIIAI(0FHS)
2,605,220 %17 44,289
@ X IH&HI 1,035, 130,000& +3. 3% 34,160
@Z S 2| 59,431
-ARHEETH DRI (L)
250,0002x35/40+2F * 12& 5,250
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2A:
PSR
ool

ro % Oph
J¥ 0x 40
M0 HO &

02 08

—

e Of
— IUE

==,
~

Ot

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ARHEEHADIHI(CHE)
185,000 35/40+5& » 122 9,713
—ARFIETIA DA (2HS)
180,000 x35/40x7H*12& 13,230
AR RIDIRI(0S)
175,000 *35/40x 17 122 31,238
@I A ZAH| 140,000 +x31E < 12& 52,080
@It A
970,756, 0002 / 122 »86%+84%/ 302 * 10!
19,480
@=x2aci- ARt R
936,596, 000& *5% 46,830
ot=Eg 12,360
N} 40,0002 x13E « 12 6,240
-2HE 20,0002 x3& 122 720
e PNE 30,0003 x3& * 122 1,080
-SMAH 70,0002 28 x 122 1,680
—SURHAHA 110,000 =2 * 122 2,640
O UEEEE 1,259,471,000& *1.75% 22,041
OMR+5 130,416
oJl=s 1,877,000 x5« 10 93,850
L JESET] 93,850, 00024 3. 3% 3,008
L YRR
9,860 x18AI 25«10 8,874
@I A I AH| 140,0002 x5+ 10 7,000
0 =2xH| 175,0002 x5+ 102 8,750
0=2A=2L=2
121,572,000 *4.. 5% 5,471
O LEEEE 121,572,000& %1.75% 2,128
QLB EE=
121,572,000 *1.024% 1,245
03 SRA(FIH )22 U2+ 1,000,595 961,713 38,882
SIHA2 2 X 2= 1,000,595
OQJIE=22IA(1Y), S42242|(38) 174,502
o= 2,228, A0« 12& ~4H 106,990
Q&g 80,000 x12E+4H 3,840
032+ 2,228, 9403 x50m+2 2| x4 H 8,916
@I 2=EIHt=
60,0002 x12& 4% 2,880
@I A I A 140,000 x 12 x4 6,720
oI 2=H| 50,000 »12E+4H 2,400
02 +g 175,000& x 12 +3H 6,300
0L =g+g 40,0003 * 12 44 1,920
@I E=)tH|
2,228, 9403 x60%*22] x4 H 10,699
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SN B2
M HYRAZHI(ZZ)
ciel: olei2gy|(5)
RN - I BRA(E) - HRA - BES of v A
[ JubyEn=
11,5503 +x8A| 2+ 132 +4H 4,805
QA2 224
11,5502« 150%+20A| 2t 128 +4H 16,632
( EI=Eas) 50,000 12E 43 2,400
Ox=+=R(4Y), ot-2t2lR(3Y), otdz
elE(1g) 402,079
o= 2,507,400 « 123 ~8H 240,711
Q&g 80,0002 x 12«8 7,680
0Z=2+E 2,507, 4002 x50%+2 2] *8H 20,060
0I5 IHts
80,0002 x 12«8 7,680
@I A I AH| 140,000 x 12«8 13,440
U2 2=H| 50,0008 x 12«8 4,800
02 +g 175,000& x 12 ~8H 16,800
Ox2=gg 60,0002 « 122 ~8Y 5,760
[ EogeapS e Rots) 70,0002 x 122 +8 6,720
@I Z=SItH|
2,507, 4002 «60%+2 2] +8H 24,072
[ JUDNES=
13,3503 xBA| 2* 132 +8H 11,108
QA2 R+E
13,3503 * 150%+20A| 2+ » 122 +8H 33,448
(B l=Eas) 50,0008 x 12«8 4,800
Oti==&2elA (1) 67,706
o= 3,541,240« 128 +1Y 42,495
OIS 40,0003+ 12&«1H 480
03=2+& 3,541, 2403 x50%+22] * 1H 3,542
03I 2+EItits
130,000& 12«14 1,560
QT USAH| 140,000& x12@ «1H 1,680
(I e =] 50,0002 12& 1 600
[ _ESE ety 175,000 x 121 2,100
O P=gg 90,0003 121 1,080
[ Egee PN ge Rty 70,0003 *12E 18 840
@I E=tH|
3,541, 240260022« 1H 4,250
[ JUDNESS)
18,2703 +BA| 2+x 132 +1H 1,901
QAR 22
18,2703 «150%+20A| 2t+ 122+ 1 6,578
(B l=Eas) 50,0002 1281 600
otgzsEze(1g8), AEsda2(1g), 3
2zel(1g) 150,971
o= 2,287, 7003« 122 +3< 82,358
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A B2
B HELAAY|(EY)
Eel: ol 2AH|(SE) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
otEg 80,0002 x 12«3 2,880
032 =+8 2,287, 7002 *50%*32] *1H 3,432
03I 2+EItits
50,0003 »12E+3H 1,800
@I A SAH| 140,000& x 12 x3H 5,040
OU2IESH| 50,0002 x12 & +3% 1,800
0T g 175,0002 x 12«3 6,300
0= g 40,0002 x 122 +3 1,440
(| EageepSge RSy
70,0003 x 122 x23& 19,320
@I E=JtH|
2,287, 7003 x60%*22] +3H 8,236
[ JUDNESS)
11,9002 +BA| 2t 132 +3H 3,713
OA2RAZ RS
11,9003 * 150%+20A| 2+ * 122 «3H 12,852
[ Sak=Eisy 50,0002 x 12 & +3% 1,800
OMI =X LR (SE A4S, OtSSEHMY,
2202, XA AR S XI1E) 156,378
OtEE 80,0002 * 12«11 10,560
oI2+¢
2,572,010 «50%+22| x 118 28,293
@I 2+GIHta
60,0003 122+ 11 7,920
@I U= AH| 140,000 * 12«11 18,480
{ Ik =] 50,0002 x 122« 11 6,600
oXEg 175,000 x 122« 11 23,100
0N F=gg
60,0003 * 122 +11d 7,920
@I E=JtH|
2,572,010 «60%+22| x 118 33,951
[ Jebraats)
12,803 xBAI2E* 132+ 11H 14,747
QA2 RE
12,8002 x150%+ 10Al 2t+5 967
[ NS E=mtsy 20,0002 x11& 128 2,640
@=Z0iH| 100,000 x12& 1 1,200
OX I &H| 979,169,000 *5% 48,959
04 HSRESS 14,509,401 12,781,399 1,728,002
01 gsfs=s 11,904,334 10,398,329 1,506,005
OSSR |I2RES 11,904,334
oYsF8= 52,884,635, 2403 «9% 4,759,618
OoL2d=s 52,884,635,2402 %10. 6% 5,605,772
OEX+-ERe=
52,884,635, 2403 %2. 7% 1,427,886
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SN B2
M HF2HHH(EZ)
Cel: QIHARHHI(E2) (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
(@) I=PNES= =
52,884,635,240&*0.21% 111,058
02 FLIALBEHZ 2,117,543 1,895,616 221,927
O=pAd2ES 52,884,635,240%+3.545% 1,874,761
OFIIRLEE
52,884,635,240% +3. 545%*12.95% 242,782
04 SRE(PIIHL) 22X BEESRE3 S 487,524 487,454 70
OZRZA2 22X LEZEHRES
997,529,000& *1.75% 17,457
OZRAZZ2A SN2 EE =
997,529,000 *1.026% 10,235
OSRE2Z2L =30HZ2
997,529,000& 4. 5% 44,889
O3RI2ZA I0ALEH
997,529,000 & *3.545% 35,363
OZ3RA2ZA EIILRYEH
997,529,000% *3. 545%+12.95% 4,580
OElAazs2UF a3 50,000,000& 50,000
OElAZ 325,000,000& 325,000
ol 2| (At3I=XI0IE o12dd| X&) 474,434 474,434 0
Al 379,547
- 94,887
101 eI H| 474,434 474,434 0
Al 379,547
- A,887
01 E= 474,434 474,434 0
OAIRIEXNINGSSE 12|
474,434,000 474,434
Al 379,547
- A,887
ol HY|(L oY Xie| Meoled old| X&) 32,062 29,808 2,254
= 16,031
Al 16,031
101 el t| 32,062 29,808 2,254
= 16,031
Al 16,031
02 JIEtA E 32,062 29,808 2,254
OLolXtel Mgels olAy| 32,062
oJl2=s 2,271, 7502 1B+ 128 27,261
= 13,631
Al 13,630
O&FHMZ A 140,000 x1H 123 1,680
= 840
Al 840




ro % Oph
J¥ 0x 40
M0 HO &

02 08

SA - ZE . BR(8) - HRAR - BES A 2
FEEFIEECEEEEE
106,86024+124* 122 1,283
= 641
Al 642
(OFSF= N 153, 120312+ 128 1,838
= 919
Al 919
CIH2HH|(OISESHERR 212l XI¥) 34,330 33,380 950
s 27,464
Al 3,433
- 3,433
101 eI24d| 34,330 33,380 950
= 27,464
Al 3,433
- 3,433
02 JIEtAE = 34,330 33,380 950
OOtSESHE R (AT
M o3) 34,330
OFJ==) 29,940,000 29,940
s 23,952
Al 2,994
- 2,994
OAt2I 222 3,000,000 3,000
= 2,400
Al 300
- 300
OA2l 28 J|12RE= 1,390,000 1,390
= 1,112
Al 139
- 139
ABISXSR RIHA22H(SE A=) 143,088 138,912 4,176
= 71,544
Al 35,772
- 35,772
101 21AH| 126,816 122,640 4,176
[ 63,408
Al 31,704
- 31,704
03 SRA(RIH )22 U2+ 126,816 122,640 4,176
OSE At 22l AH4E) 126,816
oJlzs 2,242,000 ~4E 128 107,616
[ 53,808
Al 26,904




2A:

ST
M HYRAZHI(ZZ)
ool QIARAH|(BZ) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 26,904
OO0l
10,000 *10AI 2H* 12 #4H 4,800
= 2,400
Al 1,200
- 1,200
OAlRIIRRAY
15,0003 »20A| 2t* 128 #4H 14,400
= 7,200
Al 3,600
- 3,600
WM HsEE=S 16,272 16,272 0
= 8,136
Al 4,068
- 4,068
M BRA(RIAHL) 22N BEERE=s S 16,272 16,272 0
OSE A 22l AH4E) 16,272
OCAUES I 2RE=
250,0002 x4H 12 12,000
s 6,000
Al 3,000
- 3,000
OEAZ0EE=2 4,272,000& 4,272
s 2,136
Al 1,068
- 1,068
AZEX LR SINHAZZRH(OtS S EAtAZIEIAL 137,088 133,152 3,936
s 109,670
Al 8,225
- 19,193
101 ©1AH| 123,624 119,820 3,804
= 98,899
Al 7,417
- 17,308
03 SRA(RIH )22 U2+ 123,624 119,820 3,804
OOtSSEMUIAMZ 2R (4Y) 123,624
oJlEs 2,263,000 «4E12& 108,624
= 86,900
Al 6,517
- 15,207
OEZ 0y 100,000 =4~ 122 4,800
= 3,839
Al 288
- 673




SN B2
M HF2HHH(EZ)
Gl A2 HH(SZ) (SH9: &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OARI2IZRE
212,5003 x4+ 122 10,200
s 8,160
Al 612
- 1,428
N4 HASREES 13,464 13,332 132
= 10,771
Al 808
- 1,885
04 SRE(PIIHL) 22X Bee82d43 S 13,464 13,332 132
OOISSEAte 22l AH4Y) 13,464
O4UEE J|12ARE=
235,5003 x4H « 122 11,304
s 9,043
Al 678
- 1,583
OISESI= GRS =)
45,0002 +4E*12& 2,160
s 1,728
Al 130
- 302
ASIEXER RIAL2Z2 XKL ALSIS XIAL 29,573 29,573 0
s 14,787
Al 7,393
- 7,393
101 eI t| 26,520 26,520 0
s 13,260
Al 6,630
- 6,630
03 SR (RIAHY) 22 E> 26,520 26,520 0
OXISAtSI S XIAH1YE) 26,520
OpIE== 2,210,0002*12&+x1H 26,520
s 13,260
Al 6,630
- 6,630
N4 HASREES 3,053 3,053 0
s 1,527
Al 763
- 763
04 SRE(PIIHL) 22X BEER2E3 S 3,053 3,053 0
OXISALSIS XIAH1YE) 3,053
OC4UEE DRz
220,0003x 19+ 123 2,640
= 1,320
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SN B2
M WHSAYY|(ED)
ool QIARAH|(BZ) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 660
2 660
CIEESEEE 413,000 413
2 207
Al 103
2 103
NBIEXY2 I HAZ2 ISz S012H2) 76,052 76,052 0
2 60,841
Al 15,211
101 Q12| 61,200 61,200 0
= 48,960
Al 12,240
08 BRE(DIH )22 RES 61,200 61,200 0
022 SO 2A2IAH2Y) 61,200
0123 2,400,0002 <2+ 122 57,600
2 46,080
Al 11,520
oAlZtel224g
150, 0008 =2« 122 3,600
= 2,880
Al 720
304 i3RYIE 14,852 14,852 0
2 11,881
Al 2,971
M BRI (DI|HL)Z2N BEESRYS S 14,852 14,852 0
O2ZSH22IAH2Y) 14,852
o4RE IRy
3500008 <2« 122 8,400
= 6,720
Al 1,680
ORI == 6,452,000 6,452
= 5,161
Al 1,291
=23H(52) 477,967 483,630 A10,663
J12gdul(sg) 477,967 483,630 A10,663
203 P ETH 130,042 121,880 8,162
01 J|ZSYA2ZAY| 100,862 9,070 8,7%
o>73% 57,482,000 57,482
ORREH 40,130,000 40,130
O#HXA=Z 3,250,000 3,250
02 HRAPAADEAIY| 29,180 29,810 2630
OF AT (504Y) 29,180
O100 A 8,000,000 8,000
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FA SR
M BHSHAY|(ET)
oHR: J|2dUI(EZ) (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
©101~300& 12,000,000 12,000
©301F 014 9,180,000 9,180
204 MR AH| 347,925 366,750 N18,825
01 MM R 66,000 63,000 3,000
O3 650,000 x1& 128 7,800
ORx&8d 600,000& x1H 122 7,200
Oo=& 350,000 x5« 12 21,000
O& - & 100,000 x25F « 122 30,000
02 SEH23HI 281,925 303,750 N21,825
Ol2IgsHi 281,925
oulesHI(LerA)
50,0003 »420H » 123 252,000
OtHel&tSHI(LEHAIIH)
50,0002 +19F <122 11,400
otjelgsHI(#E)
50,0003 =2 * 128 1,200
otel sl (Al HLIIH)
43,7503 *31H 128 16,275
OtHeI&tSHI(BHAIZIIH)
43, 75032« 1238 1,050
IARIH|(Z21) 176,352 148,019 28,333
el 2d| 176,352 148,019 28,333
101 e124d| 176,352 148,019 28,333
01 2= 172,210 139,709 32,501
Ox=W2R=E 172,210
Ot 222
12,8443 x3bA1 2H 14+ 128 75,523
OAIZtIZ2R+Z (HINAE)
15,0693 +67 Al 2t 1+ 123 12,108
OAIRAZ R4 (=SHIM)
12,8443 x110A1 22~ 123 33,909
OARLRAZESYH (1S A28 H)
11,6022 *110A1 2H+ 12+ 123 15,315
OARLAZRL(SEZAAN, 24 57
NE22%, XNY3IIGEIIH WA
12,8443 +67 Al 2H+3Z+ 123 30,980
OAIRIAZR4LH(LEHADIH 82)
10,4162 +35A1 2Hx1H* 123 4,375
02 JIet& 24 4,142 8,310 A4,168
Ozxu=z2e=g 4,142
OAIRIZR4=S (Al DA
9,860 x3bAI 2t 1H+ 123 4,142
23ISR 75,740 63,580 12,160
Jl=23 75,740 63,580 12,160
201 2= 42,120 31,560 10,560
01 AFS2t2ltl 42,120 31,560 10,560
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=N B2
M #YSARY| (B
ool J1=2dHI(52) (S &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OJlZ A2l 21,0002 x22F 122 5,544
Ogit= 9,360
OZAHDNESADIYIHER 0, FEEA)
240,000 =2CH* 122 5,760
OSUDEZADIYTHELD, TEIA)
150,000 x2CH* 123 3,600
OS2EA ZAl|
9,000 *17H+8Ax 123 14,688
OS2EA SAHI(HIAA)
9,000 x5 *204!x 12 10,800
OS2I SAI(AESLIIH, BLE)
9,000 x2& +841x 123 1,728
202 04l 29,840 28,240 1,600
01 2LHoIH 29,840 28,240 1,600
OZUNHI(AR+ERE)
20,0003 5 +8&* 102 8,000
Ot oIHI(& )
20,0002 x22EH 42 x 122 21,120
OZLHOBI (Al EHRIH DM OFS)
20,0003+ 1H+32 123 720
203 HR=AH] 3,780 3,780
M A=Y= 3,780 3,780
O21=2A4(25H0l3tH) 350,000 * 122 %90% 3,780
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